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Lesson 2 Objectives

Participants will be able to:

1.

Read and write linear math problems using the
long dash, general omission symbol, or shape
to represent a missing number, sign of
operation, or sign of comparison.

. Read and write math word problems that

require use of the opening Nemeth Code
Indicator, Nemeth Code terminator, and/or one
word switch indicator.



Review of the General Omission Symbol

 The general omission symbol is i (dots 1-2-3-
4-5-6).

 The general omission symbol is used when a
question mark or blank space In print shows a
missing number, sign of operation, or sign of
comparison.

e Space the general omission symbol the same
way you space what it replaces.



Activity 2A

Interline the problems. A sign of comparison Is
missing In the fourth problem.



Activity 2A: Answer Key
1. ?+ 106 = 120
345+ 2022

4.18 36



Long Dash

 The long dash iIs ;... (dots 3-6 written four
times).

* Generally place a space before and after a long
dash unless there Is a mark of punctuation next

to It.

[ + = 10

—12 < 35



Shapes Used for Omission

e First determine If the shape is meaningful for the
student (e.g., all odd answers are written in
triangles; all even answers are written in circles).

e If shapes are needed, for young students use
stickers or other textures to represent shapes
such as sgquares, triangles, or circles.

It IS not best practice to replace the shape with
the general omission symbol. At this age, It is
essential that students have multiple
opportunities to tactually explore shapes.
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Activity 2B

Interline the problems.
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Activity 2B: Answer Key

1. 14@ 14

D
2.7 -5 =
3. 91 83

4. 10+ 20




Activity 2C
Write the following problems in braille.

6. 8- =3
(. 4+5 =
8. 10+0 =

9. -8 =




Activity 2C: Answer Key

6. 8- =3

7. 4+5 =

8. 10+0 =




Nemeth Code Switch

 The opening Nemeth
Code indicator ::::
(dots 4-5-6, dots 1-
4-6) opens Nemeth
Code.

e The Nemeth Code
terminator :°: (dots
4-5-6, dots 1-5-6)
ends Nemeth Code.

Indicators

S5 4_ Nemeth Code terminator
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Positioning of Nemeth Code Switch
Indicators and Consistency

 The opening Nemeth Code indicator can be placed at
the end of a line of literary text or on its own line.

« The Nemeth code terminator can also be placed after
the math it ends or on its own line.

 When deciding where to place indicators, consider
consistency and clarity for the braille reader.

Joe wrote 3+6 = 9. Is he correct?



Single Words in Nemeth Code Within UEB
contexts

 There are two different ways to indicate a single word
within Nemeth Code.

 Braille the word with no contractions OR
« Use a single word switch indicator .. (dot 6, dot 3).

 Be consistent in preparing materials. (Do not mix and
match!)

 Ensure students are familiar with both ways to
transcribe single words within Nemeth Code.

3+ 4 and 2 + 5 are equal.
or



Non-Use of Nemeth Code Switch Indicators

When there are whole numbers (e.g., 82, 7, 109) in a word
problem use UEB numbers.

5. Ricardo has 19 marbles and Tiffany has 13 marbles. Who
has more marbles?



Activity 2D

Do you need Nemeth Code switch indicators?
1. How many tens are in 45?
2. What is the sum of 5, 10, and 15?

3. Which is more, 9 — 6 0or 11 — 5?

4. Marcella wrote the answer 6 for 7 + ? = 13. Is she
right?



Activity 2D: Answer Key

1. How many tens are in 457
No Nemeth Code switch indicators

2. What i1s the sum of 5, 10, and 15?
No Nemeth Code switch indicators

3. Which is more, 9 — 6 0or 11 — 5?
Yes Nemeth Code switch indicators

4. Marcella wrote the answer 6 for 7 + ? = 13. Is she right?
Yes Nemeth Code switch indicators



The Correct Way to Braille The
Problems in Activity 2B

1. How many tens are in 45?
2. What is the sum of 5, 10, and 15?

3. Which is more, 9 — 6 or 11 — 5?



Correct Way to Braille (continued)

4. Marcella wrote the answer 6 for 7 + ? = 13. Is she right?

The Guidance gives us flexibility to braille this word problem in 3
different ways.
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Activity 2E

1. 1f8 —4 = 4, then what iIs 8 — 3?

2. If there are 3 cats In the house and 2 more come
In, how many cats are in the house altogether?

3. One way to make twelve Is 6+6. What I1s another
way to make 12?

4. You have 7 cookies, and you ate 2 of them. How
many do you have left?



Activity 2E: Answer Key
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